Q. (3 HFEYERIE SRR P18 4R 6 (3))
BURT 5 E TOMRIZE NTH DN DB 000 FH A,

A.
£7 (3) ot LT, TOESa, BINKTHE 97 a,b ODFFERD T, [@FD
AR JERE FIcRK DT L) X IICEZ TAHATLIEE N,

_ b+(1-a)(a-b)" 0
n- 1-a+b

(1) FT0RR 0T D5E TR O TN E T,
l—a+b=0 DOLE, a—b=172DT,

A IANEN

q, = ZA-@0@DT _ brA-att _bil-a _ 4 by i3 O CAMEREET D 2T

n 1-a+b 1-a+b  1-a+b

20 FET,

£, a,=175613a, = 1720 T, MEX1TEOSRNFL Ve =a=1
LoT.b=a-1=0&720F7,

(i) ®iz. (1) DA OSBRI BARNE X ZHET,

l—a+b#0 D& &, a, =" gsg7 i ix, HFO - a)(a—b)" D
HANCIER LE T,

D1 —a) =00k x

(a —D)"DOESFCEDL LT, 1—a)(a-b)" BN LR DDT,
a I EE a, b DATEINDIT-OIGRL £,

@-1<a-b<1Dl X
-1<x<1 &Eu’ﬂﬁuw=o T&é:k%ﬂ%bf\ﬁm@—bﬁzo

FoT, U—-a)(a—b)"BENPPNKRTHTD, a, IR L ET,



